GENERAL STUDIES

Paper-I|
1. The earliest reference of ‘Magnetic Compass’ isifbin
(@) Miftahul Fuzala (b) Chachnama
(c) Ranazatu's Safar (d) Jawamiul Hikayat
2.  After the downfall of the Delhi Sultanate, who vibs first ruler to issue the gold coin ?
(@) Akbar (b) Humayun
(c) Shahjahan (d) Sher Shah
3. Match the following monuments with their concermeder and select the correct code
given below :
A. Double dom i.  Sher Sha
B. Octagonal tom ii. Muhammad Adil She
C. Truearchtom iii. Balbar
D. Gol Gumba iv. Sikandar Loc
Codes:
A B C D
(@ iv il [ i
(b) v [ i
(c) i v i
(d)y i i [ \Y
4.  Which monument is not at Fatehpur Sikri ?
(@) Golden Palace (b) Panch Mahal
(c) Jodha Bai Palace (d) Akbari Mahal
5. Which one of the following Ashrams related to Mimha Gandhi, is the oldest ?
(@) Sabarmati (b) Phoenix
(c) Wardha (d) Sadagat
6. The first Chief Justice of Supreme Court establishy the East India Company was :
(@) Elijah Impey (b) Courtney llbert
(c) Phillip Francis (d) None of the above
7. Who was the author of ‘Neel-Darpan’ ?
(@) Ishwar Chandra Vidyasagar (b) Bankim Cha@iratteriji
(c) Nabagopal Mitra (d) Dinabandhu Mitra
8.  Azimullah Khan was an advisor to
(@) Nana Saheb (b) Tantya Tope
(c) Rani Laxmi Bai (d) Kunwar Singh
9. Who established ‘Satya Sodhak Samaj’ ?
(@) B.R. Ambedkar (b) Santram
(c) Jotiba Phule (d) Bhaskar Rao Jadhav

10. Muzaffar Ahmad, S.A. Dange, Shaukat Usmani andnN&upta were jailed for which
conspiracy ?

(@) Kakori train heist (b) Chittagong Armoury raid

(c) Meerut conspiracy case (d) Kanpur Bolshevikspiracy case
11. The longest glacier in Uttarakhand is

(@) Pindari Glacier (b) Chorabari Glacier

(c) Yamunotri Glacier (d) Gangotri Glacier
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(2)  foreEer ren (b) BT .
(c) ISqE-9wH (d) SR feshrEm o
el FeeTd o TRl o Ui [l SITeeh §IRT T&0f HsT <1 HeIo 2 Jrefer fehayr 7 ?
(a) e (b) &™
(c) TmEsTEr (d) 3I=mE
AT TIReT ot 3T Fafed IMash & GHTAd e = f§3 T el @ Tal ST A I3 HiteTe
A HERRICE i. RO
B. 3TSSY HeheRT ii. TEER e U8
C. AU HhaRT i, ot
D. e g iv. TaehsR @t
%!

A B C D
@ v i i il
o) v i il i
© i Qi v i
) @i i i v
I T AR HIeqT e J el 8 ? .
(@) Tl wew (b) de TS
(c) STiuT =g T Hee (d) TRt 7o
HETCHT TITE | ey et et o i ge QI ?
(@) @R (b) W
(c) =i (d) @&
2 fvean e FRT W Seaad <R % TeH gE R o
(a) uferTe = (b) A T
(c) fwfem wifeg (d) 3IUgsH F g of 7
e TYOT ok A i & 7
(@) ¥R v fomarR (b) e =i westt
(c) FemTaTet fE= (d) @emy f
ST e Gl FeTeshR &
(@) T EwES % (b) i 2
(c) T eH AE (d) FREEH
"G TN TS ol T T ht off ?
(a) 1.3TR. ST=gaR (b) HwRw
(c) fifqam Fet (d) o g STTee
TSI STEHS, TH.U. S, Titehel SEAHT a2l et et fohg srga= o forw &g fohu 7 o 2
(@) RIS T Sohell (b) TS TR W BTAT
(c) TRawgdd HUS (d) FHR eIt TSI FIUS
STRIEUE H oy ol 608 &
(@) fovert fers (b) =TS (FRER) fewre
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(c) T fers (d) i fews
12. According to 2011 Census, which of the followingtdcts of Uttarakhand had negative
population growth-rate ?

(@) Pithoragarh (b) Almora
(c) Rudraprayag (d) Uttarkashi
13. Which are called ‘Duns’ in Uttarakhand ?
(@) Structural valleys (b) River valleys
(c) Alpine grasslands (d) Narrow valleys

14. In which of the following rivers’ confluence is Bmdghat located ?
(@) Alaknanda and Bhagirathi
(b) Alaknanda and Khirongad
(c) Alaknanda and Laxman Ganga (Bhyundar Gad)
(d) Alaknanda and Dhauli Ganga

15. Which of the following is a biosphere reserve itdchkhand ?

(@) Gobind (b) Corbett
(c) Rajaji (d) Nanda Devi
16. Which one is the most extensive part of the ocethoor ?
(@) Ocean Deeps (b) Continental Slope
(c) Continental Shelves (d) Deep Sea Plains

17. Grenada is located in
(@) Pacific Ocean (b) Indian Ocean
(c) Caribbean Sea (d) Mediterranean Sea

18. A telegram was sent from Greenwich at 12.00 Nobme time for transmission was
12 minutes. It reached a town at 6.00 p.m. Theitadg of the town will be

@ 97°E (b) 87°E
(c) 87°W (d 97°WwW
19. Which one of the following is not a member of ‘BEF8’ ?
(@) India (b) China
(c) Saudi Arabia (d) Brazil
20. Which one of the following is not associated te throup’ ?
(@) Gneiss (b) Sandstone
(c) Limestone (d) Shale
21. The state having highest literacy rate as per Zdrisus is
(a) Uttar Pradesh (b)  Manipur
(c) Rajasthan (d) Mizoram
22.  Which of the following is not properly matched ?
Biospher e Reserves State
(@ Similipal — Odishe
(b) Nokrek — Meghalay:
(c) Agasthyamal: — Kerale

Series-A 4 VPS



(d) Kanchenjung - Himachal Prades '
12. g9 2011 Sl SFFIVAET & AR STEUE § FiTohd § ¥ 77 SIS § SHEET Flg-33 FROTcHE W&l
g7

(@) TaIREE (b) sTemreT
(c) ZsvaEm (d) SRS
13. SWEveH ‘g fFQ e e ?
(@) ETEATCHS et i (b) Ter-mfeat @t
(C) 3T =9 % UM I (d) Fedt wnfeat
14. Tite=EmRE o Afea & T W e g ?
(a) STCTHART T AR (b)  3reTeeT waH R

(C) 3ToTh<T g ALHUF (FERME)  (d)  STeTshA-s1 UaH &iett 7
15. =19 9§ SI9 G STRIEUS 1 Uk Sa AR a5 € ?

(a) e (b) =
(c) T d) =TI
16. TETETRIA et 1 qad fokgd T S A E ?
(a) HETEERE T (b) TETERIA gTel
(c) HETHNRIE 7 A (d) T AR e
17. USTS AT €
(@) eI HEIR (b) e HeramR |
(c) hdlferr W (d) oEerETRH

18. UiHfaa @ UET 12.00 &9 Teh O ST T | AR GUoa o | 12 e &1 999 & | 98 T TR
H 6.00 1 WrE H TG | TR HT IR G

(@) 97°7. (b) 87°1.
(c) 8r°w (d) 97°m
19. frefefad & ® T (BRICS) 1 wee 81 & 2
(@) wrd (b) ==
(c) W3R INF (d) SITStret
20. fAfcfEd o | T T @ S T8l ?
() - (b)  STeTeRT TeR
() =TTuRR (d) et
21. a9 2011 I STHTUET % STAR Fall(eeh FRT 3 AT I9T €
(@) ST (b) HTR
(c) T (d) Tosieg

22. frAfefad & | 9 gafed T g ?
SIHUSH 3TRET & T

(a) Tammferame - fifeem
(b) ArFH - U™
(C) ITTRAHATE - A
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26.

(d) sEst - ferme wew

Match List-1 with List-1l and select the correatsaver by using the code given below :

List-1 (Industry) List-11 (L ocation)
A. Fertilizel I. Kota
B. Glas: ii.  Udaipul
C. Cemen ili.  Jaipu
D. Synthetic sill iv. Sriganganagi
Codes:
A B C D
@ iv i i
(b) i iv il
(c) i i iv il
(d) i i i iv
Which one of the following rivers is associatedhabardar Sarovar Project ?
(@) Narmada (b) Tapti (Tapi)
(c) Godawari (d) Cauvery (Kaveri)

On the outline map of India (a), (b), (c) and @dpict the location of four coal fields.
Which one is not correctly shown on the map ?

(a) Satpura (b) Son valley
(c) Korba (d) Karnpura

Which one of the following groups is the correetjgence of mountain peaks from east to
west ?

(@) Everest, Kanchenjunga, Annapurna, Dhaulagiri
(b) Kanchenjunga, Everest, Annapurna, Dhaulagiri
(c) Kanchenjunga, Dhaulagiri, Annapurna, Everest
(d) Everest, Kanchenjunga, Dhaulagiri, Annapurna
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g1 =t get-11 & Gaferd T IR e 753 72 e T SUFT R U Tel ST 1 =9 hiTTy -
-l (=) e (crafefa)

A I i. e
B. i. STER
C. dm= ji. SR
D. FEmEW™  iv. SWTAR
F:
A B C D
@ v Qi i i
G i v i i
() i i v i
@ @i @i i v
fefefad 5 & A TaT TER WRIeR IRESH-T § g € 7
(@) =T (b) T (qATY)
(c) =Rt (d) el

IR o @1 AFFE | () (b) (€)W (d) TR I &= i UH9Td fohar 72 € | 390 9 {6 U
T AT TR et el e e ?

(&) wageT (b) ¥R
(c) e (d) orqa

e Tget o i o1 qd § ufee s 3R geid Pra o TE he § ?
(@) TSR, TSI, ST=Y0T, HIEANTR
(b) SHEAST, TR, ST=TYUN, ST
(C) TSI, HICARTR, SF=TYOM, TR
(d) U, TSI, SR, S=Tgo
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27. Which one of the following is the correct sequentehe States of India in descending
order of their area ?
(a) Uttarakhand, Chhattisgarh, Jharkhand, Himaehadlesh
(b) Jharkhand, Uttarakhand, Himachal Pradesh, @ikparh
(c) Chattisgarh, Jharkhand, Himachal Pradeshyakieand
(d) Himachal Pradesh, Uttarakhand, Jharkhand, fibharh

28.  Which river among the following does not join Banga river from left ?

(@) Gomati (b) Ghaghra
(c) Kosi (d) Son
29. Match List-1 with List-1l and select the correatsaver by using the code given below :
List-1 (Sea-Port) List-11 (State)
A. Alleppey i. Tamil Nadt
B. Ennore ii.  Odishe
C. Paradi ii. Kerale
D. Kakinad: iv. Andhra Prades
Codes:
A B C D
(@) i [ iiv
(b) iv i [ iii
() i v il [
(d)y i iiivo i
30. Basaltic Lava rocks over Indian Deccan Plateadareed in the following period :
(@) Cretaceous period (b) Pleistocene period
(c) Carboniferrous period (d) Miocene period

31. Who was the first Indian to join as a member of BNman Rights Commission,
constituted in 1946 ?

(@) Smt. Sarojini Naidu (b) Smt. Hansa Mehta
(c) Smt. Vijaya Laxmi Pandit (d) None of the above
32. Treaties of ‘START-I' and ‘START-II" were signed
(@) Between USA and USSR (b) Between USA and China
(c) Between USSR and China (d) None of the above
33. When did the Protection of Human Rights Act conte force in India ?
(& 1990 (b) 1991
(c) 1992 (d) 1993
34. Under which agreement International Monetary Fwad established ?
(a) Bretton Woods Agreement (b) Bretton Stone Agrent
(c) S.Woods Agreement (d) U. Thant Agreement
35. When was South Asian Association for Regional @oafpon (SAARC) established ?
(& 1984 (b) 1987
(c) 1985 (d) 1989
36. State Legislative Assembly can participate indfeetion of following :
l. President of India II.  Vice-President of India
lll.  Members of Rajya Sabha IV. Members of Lediska Council
Select the correct answer :
(@ LIland 1l (b) I, llland IV
(c) landll (d) Llland IV
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TreAferiiae & @ i 9Re & Tl 1 37 &heT o HeRIe! hH | el s & ?
(@) ITHETE, BUHTE, FRGUS, EHET TS9
(b) TRGUE, IS, AT UL, TAGTE
(c) BTG, ARGUS, fEHTET TSI, ITRIETS
(d) TEHTS IS, SIS, FAREUS, SIS

frfefaa @ 9 gt 78t 77 Sl § 910 | T2 fHerdi & 2

(a) e (b) =TT
(c) et (d) @+
-1 it gE-11 | gafed w3 =i 58 T2 e 1 3TanT i gU Tl 3w A0 :
-l (T a=TmE) gl ()
A. e i, ey
B. R ii. st
C. UREM™ jii. YT
D. ST iv. ST UReT
%!

A B C D
@ i i i v
() v i i i
© i v i i
@ i i v i
R o TR & TSR U SIe- T e 9ot o1 FH0T g7 &
(a) TR amH (b) wHEERITH
(c) IR T H (d) "TEERITH
1946 T Y FIoRT T AHATYRR ST & G 6 €9 § oI TIT SRAT i o ?
(@) S S AEg (b) it & T
(c) sitmet forsra eresit diea (d) SWIiw o & B &l
‘wre-I' ud w1l afe gmeiia st e
(a) 3R o Hifaad 9 & e (b) 3R & IF % HEA
(c) difgad daa =& e (d) SWisH ¥ fohdl & Te 7t
HRA W AR &0 ST el 1] g3 ?
(@) 1990 (b) 1991H
(c) 1992 (d) 1993 #
STCRISZ TR I Sht TATOHT Foh e G & ST g8 ?
(a) e e guEl (b)  ste I TwEiar
(c) UH. S| FHAra (d) .o quEhar
3feror uferag et TedT Wie (Jeh) Rl TTOT el g ?
(@) 19844 (b) 1987
(c) 19854 (d) 1989
T2 Taum T Fferfad | 9 s e 5 et € 2
|, ORd % T & [l  9RA % IWILA h
N, TSI & S & V. =" [ UREg % 95
el IR Y
@ I, 1T (b) I, 11l T IV
) 1wl @ |1, 1TE IV
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37. Who was the first Governor of Uttaranchal (nowdadikhand) ?

(@) Smt. Margret Alva (b)  Shri Sudarshan Agarwal
(c) ShriB.L. Joshi (d)  Shri Surjit Singh Barnala
38. Which Constitutional amendment provided consiitogil status to urban local government ?
(@ 72¢ (b) 73
(c) 74" (d 71

39. By whom the jurisdiction of the Supreme Courtrdib can be enlarged ?
(@) President of India
(b) Parliament by passing a resolution
(c) Parliament by making a law
(d) President in consultation with Chief Justi¢énalia

40. Council of Minister is collectively responsiblewdom ?
(@) Prime Minister (b) President
(c) Rajya Sabha (d) Lok Sabha

41. Which of the following has been described as thé sf the Indian Constitution ?
(@) Fundamental Rights (b) Directive PrinciplesStdte Policy
(c) Right to Constitutional Remedies (d) The Prielem

42. The Lok Sabha Secretariat comes under the dinpetrsgision of

(&) Ministry of Home Affairs (b)  Ministry of Padmentry Affairs
(c) President of India (d) Lok Sabha Speaker
43. Who among the following is not appointed by that&Governor ?
(@) Chief Minister (b) Members, State Public Sss\Commision
(c) Judges of High Court (d) Advocate General
44. Under which of the following the Constituent Asd#ynof India was constituted ?
(@) Government of India Act, 1935 (b) Cripps Pregds, 1942
(c) Cabinet Mission Plan, 1946 (d) Indian Indeparwk Act, 1947

45.  Which of the following constitute the Indian Pariient ?
(@) President, Lok Sabha and Rajya Sabha
(b) Lok Sabha, Rajya Sabha and Prime Minister
(c) Lok Sabha, Rajya Sabha and Minister for Pawdiatary Affairs
(d) Lok Sabha, Rajya Sabha and Parliament Seaetar

46. Who presides over the joint sitting of the two sesi of the Parliament ?
(a) President of India (b) Vice-President of India
(c) Prime Minister of India (d) Speaker of Lok &ab

47. What is the tenure of Chief Election Commissiocofeindia ?
(a) Five years
(b) Six years or 65 years of age, whichever iierar
(c) Five years or 65 years of age, whichever ibeza
(d) During the pleasure of the President of India

48. Where the Public Interest Litigation (PIL) canfbed ?
(@) Onlyin Supreme Court of India (b)  Only in HiGourts of States
(c) In Central Administrative Tribunals (d) BothlHigh Courts & Supreme Court
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ST (STHM STREUS) o T4H 5Tl i & 2

(@) i ARV 3fea (b) st gE¥= 3fvraTet
(c) ot h.Uer. set (d) it gt fg aRAen
T Faru-eh T9Me FRT I8 I MG ol Faenie =11 a7 7ar 2
(@) 72at (b) 733

(c) 74= (d) 71=d

TR & Fair=d FTaTeTd o &R e gRT IG5 GehdT & 7
() R o Iguiet §RT

(b) TR R UAE TR ek

(c) ¥uE ERI fafy s

(d) YR % &I AT § WL ek LU FRT

AI=ARE, T €9 § fhaeh uid STRarat & ?

() e (b) Ui

(c) TsEEH| (d) < g

FATeRad B | haeh! RS TTauT i STcHT el T3¢ ?

(@) Hiferer TR (b) T & AT FRes faga
(c) HAHh STAR T HATIHR (d) efrE

ARG Graaerd Teel T ¥ Thgeht SeiE § &l Harg ?

() T HAE (b) T FE A

(C) WRe = Ui (d) TAHET aTeTe

e o 3 Tohaent FgforT 91 ot TrarTet et e ?

(a) HEHHA (b) WEH, TS AT Wl AT
(C) =9 <AAAT & AT (d) wErEETR

fr=fefad § @ foraeh SFaid YRIT |Taem T o1 71 fohan 71T 2

(@) 9RT WER 3=, 1935 (b) Forea o, 1942

(c) hise e M, 1946 (d) YTRAR A= read, 1947
IRAE GEg 1 =1 4 9 e gimferd € 2

(@) U, TRTT Ue TSt (b) AT, TS T Ye=H=T

(c) A, THAN U G A Wt (d)  SHhTT, TSI U TR rearera

TG & ST a1 ot YT 3P hl STEATAT i AT & 7

(@) ¥R 1 LA (b) IR T SIS

(C) IR T FLHAT (d) wHE TeTE

TR & G AT 3T T IAHIeT [ohe T eidl & ?

(a) dr=ay (b) ®: o AT 65 o i A S o e &

(c) drEr oy AT 65 ¥ &l oY S HUee & (d)  HRA % AL o TR

STHfE ATTerhT (. 312 UeT. ) Tl TR W i ST Fehell ¢ ?
(@) HeeT IR o ar=d e § (b) hereT AT % 3= A §
(C) S TR WTeheont § (d) 3=a e vd waTe e S 5
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53.
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55.

56.

S7.

58.

59.

60.

Which tribes of Uttarakhand had trade relationthwibet before 1962 war with China ?

(& Raji (b) Bhotia

(c) Boksa (d) Jaunsari

Who established the ‘Garhdesh Seva Sangh’ ?

(@) Sridev Suman (b) Badri Datt Pande

(c) Rampal (d) Gopi Chand

Who was the first Chairman of ‘Uttarakhand Kredal’ ?

(@) D.D. Pant (b) Badri Datt Pande

(c) Diwakar Bhatt (d) Mathura Prasad Bamrada
Who is known as ‘Gandhi of Uttarakhand’ ?

(@) Gaura Devi (b) Sunderlal Bahuguna
(c) Madho Singh Bhandari (d) Indramani Badoni

A person can contest the Panchayat election, lifdseattained the age of
(@) 25years (b) 30 years

(c) 21years (d) 18 years

By which Constitutional Amendment OBCs have beeerg27 percent reservation in the
admission to educational institutions ?

(@ 929 (b) 93

(c) o4 (d) of"

Who administers the Oath of office and secred¢éoGovernor ?

(@) President (b)  Chief Justice of Supreme Court
(c) Chief Justice of High Court (d) Chief Minister

Which one of the following states first establidhiee institution of Lokayukta ?

(@) Rajasthan (b) Maharashtra

(c) Bihar (d) Gujarat

Which of the following commissions/committees hr@sommended the creation of a
Local Body Ombudsman ?

(@) First Administrative Reforms Commission

(b) Second Administrative Reforms Commission

(c) Balwantrai Mehta Committee

(d) Ashok Mehta Committee

Which one of the following committees is not assted with Panchayat Raj System in India ?
(@) Dinesh Goswami Committee (b) L.M. Singhvi Coittee
(c) Sadiq Ali Committee (d) Ashok Mehta Committee

Under which article of the Constitution reservaoin admission to educational
institutions, including private and unaided, to GB&T/SC is made ?

(&) Article 15(4) (b) Article 15(5)

(c) Article 16(4) (d) Article 16(5)

‘Right to Education’ introduced through'8@mendment came into force :
(& In2002 (b) In 2004

(c) In 2008 (d) In2010
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1962 % FF 5 | Y& STEUE i [hd ST o fqead o Arel AT qvawy o ?

(@) (b) wifean

(c) drean (d) S
‘a1 WaT G ol T foham fomar ?

(a) #a g (b) e Awe
(c) T (d) it
‘STRGUE 1T ot o T 37e7e] i o ?

(a) <rEua (b) ErET AU
(c) feame W (d) AR TS
‘STRGUE % T o & H o ST STar g ?

(@) RIS (b)  g=Redret sgom
(c) wmHifeE wosrd (d) F=wol g
TS TR TETId 1 IS A Rl § IS 9 I0T Al §

(@) 259 @ g (b) 30 T =i Mg
(c) 21 ad = g (d) 183 =i 31y

ﬁw?%&@ﬁw%aﬁﬁmﬁwaﬁﬁﬁwwaﬁﬁm%@ 27 VTSI ST STRETOT
g ?

(@) 92d (b) 93

(c) 94d (d) 96

TSI i IS o AT <l 9199 i [erardr & 2

(@) rgufd (b) HaT= AT T T AT
(C) =T =TI T YT =TT (d) =t

1 0 9§ fore 5T 3 HAWHT ArRIgER HEIT ShY TR0 i ?

(a) TR (b) werT=

() fwr (d) T

T 1 9 for a1 / wffa = T S S ads A o gend fear ?

(@) TUH URTEME UR 3T (b) Tl vroTaeR GUR 3T
(C) SoTaR™ Heal Wi (d) 3Temeh Hear @t

1 & @ 1 9 ueh QiAfd TRa | g I e @ g 7w S ?

(@) Temrer mieamet wiafa (b) Ter.H. faEE wfufa

(c) wfeR 3Tett |t (d) 3ToTeh Hear @t

g % fow =3 awlm fereor wremet #, for [ R-TXRT o TR-3FEH W1 o |iesfera
€, a7 fusel, ergfad Sid & SFgad SHSTT &q 3TRET & Fiaen U&= o T8 & ?

(@) =T 15(4) (b) =TT 15(5)
(c) =T 16(4) (d) e T=% 16(5)
863 TEME FRT TcATrer * ferer it tferepR’ for o & @I e 77t 2
(@) 2002F (b) 20047
(c) 2008 % (d) 2010F
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

Which one of the following is known as ‘mysterkéaof Uttarakhand ?

(@) Nainital (b) Sattal

(¢c) Roopkund (d) Naukuchiatal

Which of the following food crops of Uttarakhantat®, covers the maximum sown area ?
(@) Maize (b) Bajra

(c) Wheat (d) Rice

As per 2011 Census, literacy rate of UttarakhatateSs :

(&) 79.63 percent (b) 87.40 percent

(c) 70.40 percent (d) 75.80 percent

Which one of the following is the highest snow-emd peak of Uttarakhand State ?
(a) Kamet (b) Trisule

(c) Nanda Devi (d) Chogori

On which of the following rivers, the Tehri HydRower Project has been constructed ?
(@) Bhagirathi and Alaknanda (b) Yamuna and Blzlir

(c) Kaliand Tonse (d) Bhagirathi and Bhilangana

Which one of the following countries was includedBRICS’ in the last ?

(@ India (b) China

(c) South Africa (d) Brazil

The Bretton Woods Conference led to the estabksttrof :

l. I.M.F. II. LB.R.D.

[ll.  United Nations V. W.T.O.

(@ landll (b) I lland 1l

(c) landll (d) L, mand IV

Which one of the following organisations publisties Human Development Report ?
(&) UNESCO (b) World Bank

(c) U.N.D.P. (d) LM.F.

Which one of the following World Bank affiliategrovides assistance for poverty
alleviation to the world’s poorest countries ?

(@) International Finance Corporation

(b) International Development Association

(c) Multi-lateral Investment Guarantee Agency

(d) International Monetary Fund

When the exchange rate changes from 1$@to 1$ = 58, it means :

l. Rupee value has appreciated II.  Dollar value depreciated
[ll. Rupee value has depreciated IV. Dollar vahas appreciated
(@) land Il are correct. (b) Iland Il are cate

(c) land IV are correct. (d) Iland IV are coitrec
According to Malthusian Theory of Population, ptgtion increases in :

(@) Geometrical Progression (b) Arithmetic Progi@s

(c) Harmonic Progression (d) None of the above

The Phillips Curve represents relationship between
(a) Deflation and Unemployment (b) Inflation anddmployment
(c) Inflation and Disguised Unemployment (d) Dafla and Cyclical Unemployment
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fre=fefiEa § | &9 |1 dqel STEUS & @ der’ & A F S S g ?

(@) AraTeT (b) ST

(c) wTuFTS (d) rpfaamrme

STRTEUE 59 ! TAferiad @ woe J, gaifes 5wl | 91 ST aiell Fae €
(a) oA (b) =R

(© T (d) =mEer

I 2011 I STRUMT % IR, ITRAGVE I hl TERAT R E -

(@) 79.63 ufcerd (b)  87.40 ufderd

(c)  70.40 wfcere (d)  75.80 ufcerd

frferfaa & @ i, StrETe T i g S Errsiied wdd wer e ?

(@) b (b) %WFT

(c) T=war (d)

feedt STot-faeget ufarsr, dﬁﬁmﬂﬁﬁwm‘ﬁ'%"

(a) W@W (b) THATUE WReR

(c) el ud 2 (d) smiRelt ud e
TeAToiEd Tt § & i U “ e o1 g o7 § |iferd e U § 2
(@) wRd (b) ==

(c) gfeToT 3TShieRT (d) sTstier

e I TEHEH A fh FeATT it T 6l ?

| HR.UEOE. (I.M.F.) I, emgatame. (.B.R.D.)
N, Ege I V. s=g.2.em. (W.T.0.)
@ Il () I, 7=

(c) 7=l @ 1,11, 1V

1T forshrr Rt Frferfiaa o & T S g1 Wehiia ot St & 2

() FAeh (b) Tovas®

(c) J.uASLU. (d) oTE.TH.UE.

Frefeiad o @ fova § &l ®F d grg de, fovg & fHeaay et o R 3o § JerEd
EHEETOIN

(@) iR foa fm (b) IR faehra T

(c) aguedt™ et M2 Tsi=d (d) IIRIZE Hifseh i

a1 faf = 82 1$ =" 60 ¥ uRafad g 1 $ =" 58 &t ST &, a3 2w & e
. SuE Sfead &l T |

. TCRHFIAT AL |

. sqﬁamqwaz;m%%

IV. SR sfugiead gl g |

(@) 13RI TE | (b) 1l IR WEE |

(c) 13RIVTEE | (d) 1l 3RIV TEIE |

oo o U (G5 & 3R, SHYe § gig e ¢

(a) SaHdE Y | (b)  STeHTvTE FH |

(c) TEEHFHAH (d) SWIiF o & Hig &l

TRfeTed ook fehioh Heg Taiy ol o] T & 7

(@) T fowmiid we SRieTRy (b) HST TRITT TS SRR

() W1 Tl U 37g¥d SRISTRY (d) s foremifa wel =kl SRISTIRY
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79.

80.

81.

82.

83.

84.

Which of the following economists propagated thieeRMonetary Theory of Trade Cycle ?

(&) Hawtrey (b) Hayek

(c) Keynes (d) Hicks

Who is the author of the book ‘The AccumulatiorCaipital’ ?

(@) Mrs. Joan Robinson (b) Adam Smith

(c) Lord Maynard Keynes (d) None of the above

Which of the following economists, introduced &spolicy as a tool to rectify the Great
Depression of 1929-30 ?

(@) Prof. Keynes (b) Prof. Pigou

(c) Prof. Marshall (d) Prof. Crowther

The Committee on Financial Sector Reforms 2008 dia was headed by :
(@) Bimal Jalan (b) Raghuram Rajan

(c) C.Rangarajan (d) M. Narasimham

As per Census 2011, the sex ratio (number of fesnaér 1000 males) in India is :

(@ 925 (b) 947

(c) 916 (d) 940

The Planned Development Model was adopted in Ifidra :

(@ T April, 1951 (b) 15 August, 1947

(c) 26"Jan., 1950 (d) SiMay, 1965

Which one of the following is the Chairman of thational Development Council ?
(@) Prime Minister of India (b) Finance Ministdr@ovt. of India
(c) President of India (d) Vice-President of India

Which of the following states in India is famows fubber cultivation ?

(@) Karnataka (b) Odisha

(¢) Andhra Pradesh (d) Kerala

Which one of the following is part of fiscal poli@

(@) Production policy (b) Tax policy

(c) Foreign policy (d) Interest rate policy

NREGA was renamed ‘MNREGA’ on :

(@ 2 October, 2007 (b) "™ February, 2008

(c) 2" October, 2009 (d) " October, 2010

The Indian rupee was made convertible into whicthe following accounts since March
1994 ?

(a) Capital Account (b) Current Account

(c) Both (a) and (b) (d) Revenue Account

The Insurance Regulatory and Development Authevag set up in India on :
(@) April 2000 (b) April 2001

(c) April 2002 (d) April 2003
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Frefefiad o @ foha srelemett & =R =sh 1 fovrs Hifse fagr ufquiea fwar ?

(@) @ (b) @mE®

(c) =g (d) T

fe=ferfad 5 @ ‘gsft 1 @weer (The Accumulation of Capitaffede i 9 oEeh ¢ ?
(@) ot ST Afea (b) TeH fEry

(c) S aTS Fg (d) SRiFH  HE TEl

Tfeaiad o fRg Temett 9, 1929-30 i 7e™ Hal &l GERA  {o1d, TSR Aifd o 3 H
3T Tk ?

(@) .o (b) . O]

(c) . e (d) . SRR

qRA ¥ forii &3 # goR |Hfd-2008 & 37e7e1 &

(@) Toet ST (b) TIH IAEH

(c) & TReH (d) uH. Rfawg

2011 3 STHIUMET & SR TR | folT ST (A7 1000 TES & 9 fe=i i g &
(@ 925 (b) 947

(c) 916 (d) 940

FraifSie farehre Hieet st Raed | el | & fofar w2

(@) 13w, 19519 (b) 15 37, 1947 9

(c) 26 SR, 1950 9 (d) 19, 19659
frefafad 5 & Ui foerra afafd 1 steger s g ?

(@) IR T U T (b) RA GIHR HT foay Tt
() 9RA 1 Igufd (d) 9RA T UL
frefeliaa & & =i |1 7o, YRaey 9 TR i Gl o ford uiag € 2

(@) wAEH (b) enfesm

(c) sy (d) e

TrAfeiEd o @ i Uk TSTohIST it o1 AT 2

() SR it (b) A

(c) femwr=iia (d) ==

T (NREGA) =t 790 (MNREGA) 91 e feam e 2

(@) 2 3TERER, 2007 i (b) 2 ®IERT, 2008 F

(C) 2 3TERER, 2009 (d) 2 3T, 2010 FH
W B0 B ATe 1994 9 Tefferiad 5 9 e @ H gRere-re s e ?
(@) U @ ' (b) =mey @

(c) (a)aer(b)I=i (d) T @

TR TR FRT, AT (FATHE el [T TITeehIoT ht TITOAT oht 7T off

(@) 3T 2000 H (b) 32001 H

(c) 3TTT2002 | (d) 3T 2003 H
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95.

96.

Which of the following is not a function of the $&ve Bank of India ?
(@) Regualtion of currency

(b) Regulation of foreign trade

(c) Regulation of credit

(d) Custody and management of country’s foreigrtherge reserves.

In Cyber Law terminology ‘DOS’ means :

(@) Denial of Service (b) Disk Operating System

(c) Distant Operator Service (d) None of the above

Multimedia can contain :

(@) Numeric, text, and picture data (b) Graphacanation, video, music and voice
(c) Only numeric type data (d) None of the above

Sending an identical e-mail message repeatedyptoticular address by any abuser is called :
(@) E-mail Spoofing (b) E-mail Spamming

(c) E-mail Bombing (d) None of the above

A program that has capability to infect other peog and make copies of itself and spread
into other programs is called :

(& Worm (b) Virus

(c) Trojan (d) None of the above

The practice of using more than one type of mediusomputer at the same time is called :
(&) Multimedia (b) Macromedia

(c) Interactivity (d) None of the above

One carbon credit is equivalent to :

(@) 10kgofCQ (b) 100 kg of CQ

(c) 1000 kg of CQ (d) 10000 kg of CQ®

Kedar valley disaster of June, 2013, was causkeayy rains in the catchment area of a
river, which was :

(@) Alaknanda (b) Bhagirathi

(c) Yamuna (d) Mandakini

Leakage of which of the following gases had caukedhopal Gas Tragedy ?
(@) Methyl isocyanate (b) Carbon Mono-oxide

(c) Nitric oxide (d)  Sulphur di oxide

Minamata disease is caused due to :

(@) Arsenic poisoning (b) Lead poisoning

(c) Mercury poisoning (d) Cadmium poisoning

The number of organisms that can be supportechbyehvironment in a given area is
known as :

(a) Population (b) Carrying Capacity
(c) Pyramid of number or biomass (d) None of theva
The size of the nanoparticle ranges between :

(@ 100 nm to 1000 nm (b) 0.1nmtol1nm
(¢) 1nmto 100 nm (d) 0.01nmto 0.1 nm
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frefoiiad 9 @ &= a1 U 9RArE [o7e s o @i e ?

(@) el ol e (b) foreft wmaR =t e

(c) W& & HauA (d) 391 Tacel fafm= st ot Tgarel Ue yey
g T ot greret o ‘DOS’ &y 379 &

(a) Tereer it wfow (b) femm srmfeT fawen

(c) fewe ime wiew (d) SWiw o & Hig &l
Aeimifear | Wimferd & Tehar e

(@) AR, THRS F R BT
(b) TTwRT, THHYH, Sifeat, BT 7Y STam
() hae JHN® 22T ST

(d) S H I HiE Tl

T fTvEd oo W o TSR R aR-aR U6 & 2-Hol HS9 HST1 FHealdl ¢
(@) 3-Hor WiHT (b) E-HeT W
(c) E-HoT ST (d) SR d F Hig Tl

TS T ST 37 TIUTHT i TohHe S bl T2l giell € o7 ST 3701 & Uit o a-me g
TIUTET | el Yehell €, 8 FeAT & ©

(a) = (b) =rRE

(c) gom (d) ST g P Tl

S § U &1 G TR U § 37747k ATEAHT & FANT o1 hT el & -

(a) weemHitear (b) Fewisftea

(c) FxuiweE (d) SWIFH T HIE T

TS e Shiee T & :

(a) 10fwmrCO, (b) 100fsHuT CO,

(c) 1000fwuT CO, (d) 10,000fHuT CO,

ST 2013 i hIR HTET I UK ST TaT 3 STARTH &7 H {507 87 o HRoT g8, o8 =aT o
(@) aFeTHT=T (b) e

(c) =g (d) =R

ATITeT T AT Feferiad § § fohaeh e o SRoT s ?

(@) TouTEe sTEdIATEE (b) A AT SATATES

(c) Eice TS (d) TR TE ATHAES

T S1TY T qi HROTE

(a) 3TET foaTeRTan (b) <t forsTeRsar

(C) URE fersTerta (d) ohemEe faumrRa

Topt ffymrer &= & ofort At e <l |, 5718 9aTeror Gre= o Tehdl €, Fealdl € -
(@) SEEE (b) =EF-etHaT

(c) TE a1 Se-5emH o ffirs (d) SRiwH Q HE TEl
A91-H0T T SRR =Ifetfiad § 9 fras e arare ?

(@) 100 TF-TA. ¥ 1000 TA-TH. (b) 0.1 TA-TH. § 1 TA-UH.
(c) 1TF-TH. ¥ 100 TH-UH. (d) 0.01 T7-TH. ¥ 0.1 TF-1H
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108.

Biodiversity changes occur :

(@) Increases towards the equator

(b) Decreases towards the equator

(c) Remains unchanged throughout the Earth
(d) Increases towards the poles

Bacillusthuringiensids used as :

(a) Biofertilizer (b) Biological insecticide
(c) Chemical fertilizer (d) Chemical insecticide
Which among the following gas is most responsibteglobal warming ?
(@) Nitrogen (b) Methane

(c) Carbon di-oxide (d) Carbon mono-oxide
Which one of the following pairs is nobrrectly matched ?

(a) Ebola Virus - Small Po;

(b) Biometric identificatior - Fingerprints and Iris sc.

(c) Cloning — Genetic replic

(d) DNA Fingerprinting — Paternity or criminal identificatic
Which Uranium isotope is used in nuclear powenisla@o produce electricity ?
(&) U-233 (b) U-234

(c) U-235 (d) U-239

The main constituent of biogas is :

(@) Hydrogen (b) Methane

(c) Butane (d) Acetylene

Which one of the following element is used in sakls ?

(@) Silicon (b) Cerium

(c) Astatine (d) Vanadium

Which among the following is not a polymer ?

(@) Nylon (b) Teflon

(c) Caprolactum (d) Polystyrene

Which Vitamin is required for in clotting of blocd

(@) Vitamin A (b) Vitamin C

(c) Vitamin E (d) Vitamin K

Filament of electric bulb is made of :

(@) Tungsten (b) Nichrome

(c) Lead (d) Aluminium

Which of the following radiations has the highesergy per quantum ?
(& 320-400nm (b) 200 -280 nm

(c) 280-320 nm (d) 400 -600nm
India’s first dedicated navigation satellite IRNSSA was launched from :
(@) Sriharikota (b) Ahmedabad

(c) Thiruvananthpuram (d) Bengaluru
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Sg-fafere H aRe e e -

(a) U TG RE Tl § | (b)  HET @1 I WE FATE |
(C) T W U THH EA T | (d) yai B R TA T |
ST YRATUGH ST Erar e

(@) <o @ (b) e FreTes

(c) THEM® @R (d) TEES PIATTS
frefefad o @ i o 7 Telterer ath & forg sarer fSgR & ?

(a) HrEgisH (b) @=

(C) A TS S (d) e A 3ifeRTES
frfeiad 5 @ fora sire o1 e wdt T8l € 2

(a) TS ARRY : AR

(b) STo-WifeTeh! TedM : STl BT T AR The
(C) T : SETTeR wicrepfer

(d) AT TR : ek a1 TR it veae

TeATeiEd | @ i T TT FHEH TAT] Sl G | forsTel! Seire | S&dTet ot ST & ?

(@ U-233 (b) U-234
(€) U-235 (d) U-239
AT T A TEFH ¢

(@) @EgeH (b) ==

(c) =x (d) ulEes
fAfealiad 5 9 &= 91 o Gior 9 | 3991 fohar Srar € 2

(a) faferm (b) wfem

(c) w&H (d) sHfezm
frfefad 9 9 =i a1 aiei @1 & ?

(a) HrEeT= (b) THAR

(c) HuerdeH (d) ufeteTsta
I T TITH G T 2Rl T % ToTu 1w ?

(a) foeris= A (b) faarfmC

(c) form=E (d) ffmEK
AT aod | RFeTHe ST 8T e

(a) A (b) =TT

(c) drm (d) ueHFREm
=7 0 9 o Taferor | Sl Uid Far=ey gaitaeh g ?

(a) 320 — 400 nm (b) 200 — 280 nm
(c) 280 -320 nm (d) 400 — 600 Nnm
TR T T8l Garerd 3UUE IRNSS — 1A®ET 9 sier 74 ?

(a) sfiefenier (b) SwEHSER

(c) fasam=agm (d) =TT
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109. Which one of the following pairs is nobrrectly matched ?

(@) Optic fibres — Light wave:
(b) Android — Voice inpu
(c) Large Hadron Collide — God particli
(d) Red Plane — Mars
110. Indian Institute of Remote Sensing (IIRS) is ditwukat :
(@) Dehradun (b) New Delhi
(c) Lucknow (d) Nagpur

111. Who won the Gold Medal in the $@Glasgow) Commonwealth Games 2014 in Wrestling
in 74 kg weight category ?

(@) Virendra Kumar (b)  Sushil Kumar
(c) Yogeshwar Dutt (d) Praveen Kumar
112. Who among the following scientists has been coefeupon ‘Bharat Ratna’ for the year
2013 ?
(@) K.L. Mashelkar (b) G.P.Rao
(c) Hariharan Parthsarthi (d C.N.R.Rao

113. Great Himalayan National Park, which has been rdectbthe UNESCO World Heritage
Site status, is located in :

(a) Uttarakhand (b) Himachal Pradesh
(c) Jammu-Kashmir (d) Nagaland
114. Where is the Headquarters of North-Central RailZage situated ?
(a) Allahabad (b) Jabalpur
(c) Bhopal (d) Delhi
115. In the Union Budget, 2014 the Integrated Gangas€vation Mission has been called as :
(@) Clean Ganga (b) Sacred Ganga
(c) The Great Ganga (d) Namami Gange

116. According to National Youth Policy 2014, the yasithf which one of the following age
groups will be benefitted ?

(@) 15-29 years (b) 16-28 years

(c) 15-22 years (d) 17-28 years
117. International Day of Non-violence is observed on :

(@ 10" December (b) 3DJanuary

(c) 2“October (d) 2% March

118. The “Rashtriya Gokul Mission” announced by the @mGovernment aims at :
(a) Protecting the indigenous breed of cows
(b) Developing high milk yielding cow breeds
(c) Curbing slaughtering of cattles
(d) Eliminating Foot and Mouth disease in cattles

119. POCSO Act is related to :
(@) Oil companies (b) Children
(c) Civil servants (d) Oceans
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et 5 9 o Siie 1 fHef W@t @i & ?

(@) TRITSTSh HIZSR R CaNETal]

(b) TuUgiEe : oot Fae

(c) TeSTTA RIS : TS UIeiehel

(d) TE LT

IR Refte g dem (IIRS) fem &

(@) g (b) = feeet

(c) s (d) =R

TS (TG TEHUSH Wt 2014 & 74 TReATT™ oo o H $H¥l Sl WoT 95 e ST ?
(@) =R=FAR (b) eieT HAR

(c) IR IT (d) waT FAR

frfafaa & @ fera aef=es &l o 2013 & o R W& 9 3feishd fpar e ?
(@) .U AT (b) ST =

(c) &Rexor ureramwet (d) TR T

T TeATera T2 uTh, 59 ARt 7 fove eRiex Tt =it e &, ferd &

(a) SWETEH (b) feam=er wewT H

(c) <T-HvdR H (d) =reive H

STR-HE {78 S (87) 1 =Terd el e & 7

(a) SeTETER (b) SR

(c) o (d) foott

=T T 2014 T TEa T ST ST B el T E

(@) AT (b) Tk T

(c) ZueTm (d) =ty T

UL A Hifd 2014 & AR FHHfeRad | ¥ o6 3117 a7 & Jar ersn-ad gt ?
(@) 15-29 a9 (b) 16-28 T

(c) 15-22a9 (d) 17-28 a4

STRTEIT ATedT fea 7T ST &

(@) 10 =R = (b) 30 STaRt i

(C) 2 TSR I (d) 239/

s TIPHR FRT TS AL T Tped THIM I 3299 &

(@) T T I A i &I HET |

(b) TR o 3UST A AT TAT Tl XA T TR FHEAT |
(c) URIT % T HT AT |

(d) TRIST § ‘e WU HISY AT I SO HET |

. 311U, 3. S o G §
(a) ot HEiE | (b) == H
(c) e darehi & (d) T=9
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127.

128.

129.

130.

Who has been appointed the new National Secudiyjsdr of India ?

(@) Dalbir Singh (b)  Amit Shah

(c) K.P.S.Menon (d) Ajit Kumar Doval

Who was the Chief Guest at the Republic Day pa2&dé of India ?

(@) Nawaz Sharif (b) Shinzo Abe

(c) Huldinto (d) Sheikh Hasina

Who among the following won the Presidential etatbf Syria for the third time in 2014 ?
(@) Abdel Fattah el sisi (b) Bashar-Al-Asad

(c)  Nuri Abu Sahmein (d) Noori-Al-Maliki

The new government at the centre has recentlijachtine Marrakesh Treaty. This treaty

aims at :

(@) Developing Marine Living resources

(b) Regulating air transport services

(c) Promotion of access to published works by alisuimpaired persons and persons
with print disabilities.

(d) Promoting studies in cell-biology

Which one of the following films bagged the Palmd®r award at Cannes Film
Festival-2014 ?

(@) Winter Sleep (b) Grace of Monaco

(c) The Wonders (d) Goodbye to Languages
Who among the following has been the first AfriciiN. Secretary General ?
(a) Ban Ki Moon (b) Javier Perez De Cuellar
(c) Boutros-Boutros Ghali (d) U-Thant

Which one of the following surface to air missilgas successfully testfired in May 2014
from Chandipur (Odisha) ?

(@) Prithavi (b) Aakash

(c) Trishul (d) Brahmos

What is the name of the new museum that was irrategiin the Rashtrapati Bhawan on
July 25, 2014 ?

(@) Glimpses of History (b) Toshakhana

(c) The Stables (d) Indradhanush

Who among the following won the Asian Billiard Ghgionship in June 2014 ?
(@) Alok Kumar (b) B. Bhaskar

(c) Dhruv Sitwala (d) Saurav Kothari

Which of the following has won gold medal of Wiradbn Under-19 Gold-tournament of
2014 ?

(@) Unmukta Chand (b) Leander Paes

(c) Lakshya Sen (d) Saina Nehwal

Which of the following state/states will be bettefii by the proposed “Kishau Dam”
Project ?

(a) Haryana (b) Uttarakhand & Himachal Pradesh

(c) Jammu-Kashmir (d) Assam

Series-A 24 VPS



120.

121.

122.

123.

124,

125.

126.

127.

128.

129.

130.

VPS

Tohel R T 1T T REAT WeATEhR g feharl T & ?

(@) SomER fie (b) @i wme

(c) .ULug. o9 (d) 3 FHHR Sam
IR o T G e 2014 H &= At i o ?

(@) ot ¥R (b) T

(c) gfo (d) = e
Frefeiad & & forae TiRaT o Isgafd &1 gA19 2014 § JRRE IR S ?
(a) 3T Wele Iet Wil (b) TR-37 T
(c) T 37 HeHH (d) TR 37t TeTR

o ! Tl YLK = o1 &1 § TRIhY A R g i & | 30 W H1 S2ea 8

(a) WMHH e FETEAT T [T T |

(b) oY STMENTEA FareT F A |

(c) Tfte afud Te ROT 31T A i WehTIIT TT3T ek U&= i TiedTe 3T |
(d)  RITeTERT SATaehl 3TeF T TTeTE |

Tefaiad o | ford fthod = & fthod Tetcdd 2014 H U 2-37% JIERR T fora ?

(a) T =i (b) T 31T TR

(c) Ta=d (d) TEaE T rEes
TAfefad o & 9 T2 3Thih! TE AL & TErHed © § 7

(@) - g (b) SRR WS T AR
(c)  FoRIE oRT Hedt (d) F-ofe

frefafed & @ o8 2014 | =ikqR (Sfeen) @ gealt ¥ ST dh AR A aret fohd Teiure
GheTaTgarsh URieToT fera T ?

(@) g (b) TRt

(c) P (d) s

25 S[ETE 2014 i AU-9o | 59 T GURTord Sl 33T fohaT T2 3T -1 1 & 7
(@) TOIEEST 3 Bl (b) areTEET

(c) TwRaTH (d) s=uw

fefofiad o & forem 5 2014 & ufvran faferas fmgatem st ?

(a) 3l FAR (b) Y. =R

(c) ga Tesrer (d) TRT BRI

= 4 § foree a9 2014 %, fomeos o 310EX-19 Ties SATH= § W07 ggeh SiidT ?
() SHFE= (b) femosow

(c) oI aT (d) HTET AEaT

=1 5 9 o |1 TS/ 9 s, Tt “fohars sty g | e g ?
(a) efwmm (b) SHETS o feAret w=9
(c) SR (d) e
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

Which of the following is presently the Chairparsaf Rashtriya Mahila Ayog ?
(@) Lalitha Kumaramangalam (b) Girija Vyas
(c) Mamta Sharma (d) Nazma Heptullah

The famous Nanda Rajjat of Uttarakhand took pthgeng which period in 2014 ?
(@) From 4 August to"8September (b) From 16 August td"September
(c) From 18 August to"6September (d) From 21 August td"Beptember

Who is India’s women Parliamentarian to win eleatifor the eight consecutive times
from the same Lok Sabha Constituency ?

(@) Sushma Swaraj (b) Sumitra Mahajan

(c) Maneka Gandhi (d) Savitri Jindal

Who is the author of the book “Out of Print : N@apers, Journalism and the Business of
News in the Digital Age” ?

(@) Professor George Brock (b) Rabbin Jafferey

(c) Nic Newman (d) Mark Tully

Who has been appointed as the ‘Horticulture Amdidsisof Maharashtra’ ?
(@) Akshay Kumar (b) Ranbir Kapoor

(c) Ranveer Singh (d) Amitabh Bachchan

According to the International Atomic Energy AggntAEA) Report of July 2014 which
one of the following countries has effectively redd its stockpile of enriched Uranium ?
(&) North Korea (b) Iran

(c) Iraq (d) Libya

Who was nominated as ‘Good Will Ambassador byNUWomen’ — a forum of the
United Nations, for its ‘He for She’ campaign inyda014 ?

(@ J.K.Rowling (b) Julia Roberts

(c) Maria Sharapova (d) Emma Watson

Which of the following won the first medal for liadat the 1 Asian Games organised in
South Korea ?

(@) Shweta Choudhari (b) P. Kashyap

(c) Sanijita Chanu (d) Deepika Kumari

According to Fortaleza Declaration (Brazil 2014)Sixth BRICS Summit what is the
initial subsidized capital to be equally shared agh@ounding members to establish new
development bank and for addressing infra-strucgaps and sustainable development
needs ?

(@) 200 billion U.S. dollars (b) 150 billion U.8ollars

(c) 100 billion U.S. dollars (d) 50 billion U.Soltiars

Which one of the following organizations has aéflty declared India as a Polio free
country in March 2014 ?

(@ W.H.O. (b) U.N.O.

(c) Red Cross Society (d) None of these
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137.
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139.
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VPS

FTA H, AT ATeAT ST 1 o7ere], A A A g ?

(@) TAfIaT FHARHTH (b) TReT =™

(c) HHaT I (d) ST Buqeet

ITRIAGUE Tt WTGg AT ToTT 2014 F fohy erafer § weo= g8 ?

(@) 4 3T ¥ 6 faawR (b) 16 3T T 16 faAw=R

(c) 18 37T ¥ 6 =R (d) 21 7R ¥ 10 foam=r

Teh & Ik G faTe €19 | TR * 31igelt SR’ g1 Sia- alett 9Rd i Afgel 9rag i § ?
(@) RS (b) g weH

(c)  wHeTor Tl (d) et fefeser

‘A FTE W : U, SHIoTsH, T0E T food 311 =S 3 § fefvieat w1 Ameh g &
HGH DA E ?

(@) IHER STS S (b) et s

(c) Fer=aa (d) @ e

“TERTSZ & SITE! ISIga” & ®9 § o5 et fepan mam & 2

(a) 7T FAR & (b) TR Y i

(c) eI e bl (d) T T i
WWWW(WEQQ)E%WZOM&%W%«WR ferfiad & & fa

9T A YU AT IRIH % JUSR H THIHRT HHI hl & ?
(@) ST P (b) =
(c) == (d) GIERI

YR TLHT & T T ‘LOAGHT F 0 & ®R AW ANEH G S 2014 F fRY 10
TR HTEHT TSTEA’ T o6 ?

(@) .. wEferm (b)  Siferan IJaH

(c) TR IR (d) THTaEEA

Wﬁ@%&ﬁﬁmﬁﬁmﬁa@ﬁan&%@ﬂﬁw%%ﬁwww
?

(a) o et (b) . s

(c) ESiar=m (d) Sifuemr HER

DS oo 20 T o ThiciersT Arso (STeier 2014) & SFER T He1 HE q21 o o
B SATIFHA F TET F ¥ = STATHVE 5 Y T F (70 GETF T § /R
e 8 et UREeR-goi-3Tee e fohaer & 2

(@) 200 3RS AP TER (b) 150 3RS THRHT TR

(c) 100 3RS THRPT TR (d) 50 3RT AR TR

Wﬁ@?ﬂrw#mﬁzomﬁwﬁWw@%ﬁ%ﬁ%mﬁaﬁﬁ
0

(a) fove T We (b) wgF g H

(c) ¥swiw | (d) T ¥ HrE Tl
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141.

142.

143.

144,

145.

146.

147.

148.

149.

150.

Almora coins bear the names :
(@) Sivapala, Sivapalita and Haripal (b) Sivapal@iva and Hari
(c) Sivadatta, Sivapalita and Haridatta (d) Sivtad&ivapalita and Hari

Tick out the correctly matched option out of tleldwing combination of king and his
capital :

(@ Somchan - Raj Bungi

(b) Kankapa — Devalgarl

(c) Ajaypal — Tehri

(d) Man Sha — Chandpur gat

Who was known as ‘Nakati Rani’ in the history cirf@wal ?

(@) Guleria Rani (b) Karnavati Rani

(c) Nepalia Rani (d) Kamlendumati Rani
Garhwal Sarvadalita Board was constituted in 18Z8 by :

(@) Mohan Singh Mehta (b) Badri Dutt Pande
(c) Jayananda Bharti (d) Hargovind Pant

‘Praja Mandal’ was established at Dehradun withdhjective :
(@) To get freedom from British rule

(b) To get freedom from Gurkha rule

(c) To organize people for social reforms

(d) To free the people from mis-rule of Tehri-Rajy

Read the statements (A) and (B) and choose theatcanswer from the codes given
below :
(A) The sixth century B.C. was a period of gregigious upheaval in all parts of the

world.
(B) The Vedic religion had become very complex.
Codes:
(@) Both (A) and (B) are false. (b) Both (A) ams) are true.
(c) (A)istrue, while (B) is false. (d) (A)isl&e, while (B) is true.

The earliest known epigraphic evidence of Bhagwais :
(@) Prayag Prashasti of Samudra Gupta (b) Nasd¢iption of Gautami Balshri

(c) Garuda column at Besnagar (d) Ayodhya insiompof Dhanadeva
Buddhist text ‘Milindapanho’ throws light on whid¢hdo-Greek ruler ?

(@) Diodorus Il (b) Demetrius

(c) Minender (d) Strato |

In which Vedic text the term ‘Varna’ is found refed for the first time ?

(@) Rigveda (b) Atharva veda

(c) Sam veda (d) Yajurveda

There were different causes for the downfall & @Gupta empire. Which one was not the
cause among the statements given below ?

(@ Hunainvasion

(b) Feudal set-up of administration

(c) Acceptance of Buddhism by the later Guptas

(d) Arabinvasion
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TerTeT fqehl § Sfeeiiad A €
(a) ToremTe, feramierd 3Tk aRuTe (b) Toramfer, fora o &Rk

(c) oo, fFramierd 3R eiEa (d) Torass, fremerd ik ek

AT forshed, ST I 3% ST TSTET 1 7TE €, B 9 T8t gaferd I8 & 999 3 |

(@) dmEg — TSI

(b) HTFRIA — TS

(c) omEue — el

(d) #FFIE - TERTE

et o SIerd H ‘aeha] AN & AT & i [awerd o ?

(a) TTeATAT T (b)  <HUTTEdT T
(c) et T (d) Fwergwdr T
AT TEE eI UREE T 6 1928 2. | fora o

(a) wieTde e A (b) =T awE A
(c) SHEMT Rt (d) esiagda+
IEXGT H “USTT AUSTT Y T ol 3299 AT

(@) forfest vme= @ TEdsar U ST |

(b) TR oA | s U AT |

(C) STl TS GER & Wi AT |

(d) ST ot feet T & HIMET F ok AT |

fefetfiad %o (A) 3% (B) &l 9¢ 311X - U 7T el § | Wel 3T Al 97
(A) forea o FH 9T H ST T6 Sadl IRl Ueh HeT HlHeh SAA-TIe I H1eq o |
(B) afseh ¥ agd Stiee & T o |

H:
(@) T (A) 3R (B) T € | (b) =i (A) 3R (B) W&l % |
(c) (A)WE & safw (B) Tod & | (d) (A) Teid € STaiteh (B) @&t e |
ATEI G ohT ST HAULH HE g qea ¢

(@) FES i TN TR (b) Tt ettt T ATAH T
(C) ITTR & oS T (d) ===a o svare tfierE
dig Uy faforurel e fe-gem I T Tl Seran g ?

(@) smErErmll (b) zHfczm

(c) fmv= d) wal

g afesr da g ‘9ol 918 1 GAUSH M AT e ?

(a) Fo% (b) errEaT

(c) wHeR (d) =%

T QAT o U o (A RO & | Fefetfiad s o i |1 HRoT et o1 ?
(a) &oT 3mhAT .

(b) TSI T ATHAE gt

(C) STRET Tl T sy ¥H WhR HEAT

(d) 3RS AHHTT
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